Conversion Décimal en Octal (F)

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Décimal = 8 2. Décimal = 55
Octal = Octal =

3 Décimal = 560 4 Décimal = 886
Octal = Octal =

g Décimal = 765 0. Décimal = 347
Octal = Octal =

7 Décimal = 860 8 Décimal = 279
Octal = Octal =

9. f 10. C
Décimal = 3150 Décimal = 4955
Octal = Octal =
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Conversion Décimal en Octal (F) Réponses

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

1. Décimal = 8 2. Décimal = 55
Octal = 10 Octal = 67

3. Décimal = 560 4. Décimal = 886
Octal = 1060 Octal = 1566

2 Décimal = 765 0. Décimal = 347
Octal = 1375 Octal = 533

T Décimal = 860 8 Décimal = 279
Octal = 1534 Octal = 427

). Décimal = 3150 10. Décimal = 4955
Octal = 6116 Octal = 11533
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